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And let us say that van refers to water — 27 1T TYan NROKY

OVERVIEW

The & 13 (after it concludes discussing the dispute between X1 21 whether 7yan
1S 07X or jw), suggests that perhaps nvan refers to the P of water. mpoIn will
explain: a) the necessity for this suggestion, b) why water can be considered an 21X,
and c) what is meant by the 21 of 0.

- 2919 N9) 919 XY 79991 XY INIPT 19 'ura
The explanation of this question (27 77 7¥2n X1X)) is that since the (2°)pyep
(concerning 7van) are not conclusively accurate either according to one view

(of 27, that it refers to 07X) or the other view (of >xmw that it refers to 1), let us offer a
third option, that 7v2n refers to water.*

mooIn has a difficulty:
- *A7na 0 29N 19229 9NN ON)Y

And if you will say; and where is a P12 of 2°» written in the 791n? How can the
X723 ask that perhaps 7van refers to the p°1a of o°», when we do not find a P> of o°n explicitly in
the 77 n?

ND0IN answers:
= KN 239 DY DM NI (narx) MIIN NI 1) ‘nowin 15 v

And one can say; that we derive the P of 2°» from the P05 of 77°y2 nX 9wN; the
word 12w refers to the P12 of 0. We can prove that now refers to o°n for so it
says in a 7109 ‘and he sends waters on the surface of the outdoors.” We derive
from this P10 in 21°X that now refers to o°n.

nvoIN anticipates a difficulty and resolves it:
- 599N 119123 NPV NYIYT 23 Y N

! The introductory word w12 indicates that Moo anticipates the following difficulty: why should we say that 7van
refers to 0%; in opposition to ?X%wY 27 who maintain that it refers to either 27X or Jw.

? Others amend the text to read X" in the plural.

3 See 102 2,3 7.

*If 7van would refer to water, the van 1w would be appropriate, for water is 7yan (it bubbles; see following NN
n 11"7) as opposed to ORI AT 7van (where it should have been called 7¥12) or 1wi1 117 7van (where it should have been
written ny21).

> See AR "7 X,2°"w" that the M2ax are those P11 that are clearly stated in the 770,

67,95 [Dvown] Mnw.

7t oyos.
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And even though that the phrase 7 w2 nx mwn is certainly referring to cattle;

how can we consider that n5w refers to o°». Moo responds that -
= YWY YDA NNNA RINNT NIPONTI 1939 SYNNYN 9 0 DIPN Yo

Nevertheless we can also derive water from this 105 of fow, since the 5770 chose

to refer to the 7772 with the term 1®wn; instead of using a different term. This teaches us
that the phrase of 77°v2 nX oW1 is referring to water, in addition to referring to 727 230.

mooIn anticipates an additional difficulty and resolves it:

- D593 1997 S8 RY 7Y 19PN INDA HYaT 9ryY)
And previously when the X723 asked why was it necessary to cite the 09 of
MM MW 9A7 nown to teach us that 79w means 30; seemingly without the 109
of 731 rmown, T would still know that 9w refers to 937, for what else can the oo
be referring to (this concludes the question of the X313)? md0In continues that
seemingly, now, this is not a valid question; for if not for the P05 of 237 *n%wn why
could we not say that the P05 of 7w is referring to 2°»?!

mooIn responds that this question is not valid:
= 19592 29N571) 9IYT 295192 MIPIND 19 NN DI NNPIN ) 99

For even if the 17w P09 is discussing water (also), it is still necessary for us to
assume this P09 is (certainly) discussing animal matters (such as 73 jv), since
the 770 writes 779992, which refers to cattle.

mooIn asks:
= NN NI PYNI NI N*NT NPT 9y 5",7\’))3‘1 N 23T Y30 012 2N 9NN ON)

And if you will say; and these waters, which the X773 suggests that it is an 22X
1P11%, of what type is it; how did it do damage? If he directed a stream of water
upon the pr1, and it was the initial burst that caused the damage; then it is

considered his power; it would be an 2’177 07X (there is no need for a new 2R of °»)!
= (3, 97 pr7mv) 1299302 199K TI NN NNIYYA N9 Y N9 N

And if the water came upon the 2171 only from a secondary force (not from the initial
(burst or) flow, then the p>1 is merely a cause of the damage (but not directly doing
the damage), and is therefore not liable for it, as the X723 states in 129w po!

N1B0IN answers:
- 72591 %103 53 N34T 19 YIWM NP 53W N2 399527 9D Y

5 x,397.
 Our X is assuming (in this X"¥7) that 2’1 is an aX and is teaching us that "3w 113 is 2. The X3 in 19w is
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And one can say that we are discussing where the damage was from the
secondary force and this 7109 is teaching us that one is liable by the p°m of o,
for damages caused even by a secondary force.

nooIN offers an alternate solution:
= (4,597 PRPYT 1722 1RO 19 09939 5197 XYY INNT INA 9123 IN

If you wish we can also answer that the water damaged after it rested (something
fell into this standing water), however it is not similar to =12, because we are
discussing for instance the case where people open their sewers, which the X723

mentions later. This sewer water later collected'” and someone was damaged by the standing
waters. The P10 teaches us that the o7 5va is 2°°11 for the 2R of nvan.

Mmoo anticipates a difficulty:
- Payn nna snxT 23 9y 9N

And even though we derive this ruling of 17°m2°2 P> from the 737 7% of our
mIwn; why is there a necessity to consider 2°» an 2X?!

N1B0IN answers:
= 19290 NN XD 993107 095 29ND 1aMDY TIIVNINT NN MN

For I would think that it is necessary for 2°» to written in the 770 as a distinct 2
in order to make the o7 9va liable if the o» damaged a3, for we could not
have assumed that he is 2»n for o°73, if we derived o°n solely from the mw: 73

which includes ™12, for 212 is Mwo on o*%3.'* Therefore the xm3 asked that o should be
considered an independent 2X and be liable for o*72 as well.

mooIn concludes:
$999V WM 291 INDAT NON 00 N9 )N WIY AN NTRD NN T9991D 281 MM

And the X723 could have rebutted this suggestion that 7van refers to o by

according to the X1p0n where there is no 2% of a°», and therefore "1 113 is indeed Mwd. See 0"7;n. Alternately the
X1 in 197w is discussing a case where a person was killed through this stream of water, therefore it is understood
that if it is merely a "1 112, the perpetrator is 7in°nn 7w, for it is not his 113; however by 1°p°11 even a “1¥ 12 can be
2°°17, just as 1117 is 211 (see TR NIX 1" WM 81 NI 7"210).

' moon anticipates the difficulty that if the o' did damage 3w IAXY it is M12; there is no need for a new 2X.

'1'x,1 97. The xn3 there cites a 7awn that even though people are occasionally permitted to empty their sewers into
the 1" [see, however, following footnote # 12]) nonetheless they are liable for damages. This is different from 713,
since the sewers are emptied 72 mwA2.

12 1t would seem to have been collected and done damage in the "7, since we derive o°n from n%w1 where the 109
clearly states X 77w2. See, however [previous footnote # 11], Yop MR 1" *w17m.

Y See X,1 179, According to 727X 12 RTX 27 the 7w 7% of the 71wn comes to include 121 77°M12°2 Ppno.

'* See “Thinking it over’ # 3.

3

TosfosInEnglish.com



XK1 71"'7 '01n 2,7 22 .70

asking, if 7van refers to 0°» what does the 71wn» mean when it states that these two
(7vam M) that are alive are not like wX? If 7van is o°» than it does not have a m”
o»n!"”> However the X113 soundly refutes this suggestion (that 7van is o)
without resorting to this refutation.

SUMMARY

The X mx suggests that o°»n 71 nvan (for now1 can refer to o°n [also]), since the
0°P109 are not P17 according to either 27 or X mw. The case of P11 o is either if
it damaged *1w 123, or it damaged W nXY; and the 7Moo teaches us that the o°»
P°TA is 2°°11 even for o°%2.

THINKING IT OVER

I. One of nBOIN answers is that the 2°» did damage °1w 1122. Seemingly WX also
does damage (only) 1w 1153, and is nevertheless 2> 1. Let the *1w n1> of o' be a 77710
of wX. Why do we need a new 2x for on?!'

2. mpon explains that the P of @7 is in a case of 171°M272 PPN in order it should not
be similar to 2. Seemingly we can say that it is similar to 112 (and he placed the X5 o°n
MwA2 just as M2); however the 7770 teaches that the P17 of 1 1s 2711 even for o951

3. When something (c) is derived through a mwn 7% (from a & b) and the two
0*7non (a & b) have different rulings; what rulings apply to the 7% (c)?'®

4. mpoIn discusses WX 112 and " 3. There may be two different ways to
describe them. A. NwXA 12 is the initial flow of water (e.g. if someone opens a
faucet), and *1w 12 refers to the waters that follow after the initial flow.

B. nwxa 15 is the immediate effect of the water; the water damages by its initial
force, and *3w 112 1s when the water does damage later when it reaches a spot at some
distance from its original source and its initial force is diminished (completely).
Which of these explanations would be most appropriate for our n9o1n?"

' The X723 (shortly) uses this reasoning to refute the suggestion that WX 7 7van.
' See 29 nix Y.

' See 1"nX.

'8 See footnote # 14. See previous 1wn 1"7 2,3 ' [TIE ‘Thinking it over’ # 3].
19 See tup MIX 1" WL
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